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How Trackers Violate Accepted Ratemaking Practices

Indiana’s capital expense trackers have two fundamental problems. A utility should not be
allowed to recover costs associated with incremental capital investment in infrastructure
improvements and ignore that rates are set using net depreciated plant. Increases in capital
investment can be offset by reductions in net plant due to depreciation of existing plant.
Second, cost recovery should not ignore the additional revenues that the utility will recover in its
base rates resulting from load growth. Every additional kilowatt-hour that the utility sells will
generate additional revenues. These additional revenues can offset higher costs.

Unless these problems are corrected, rates will not be just and reasonable. Ultilities will collect
excess revenues to the benefit of its shareholders. Retail customers will be overcharged.

These two problems are illustrated in the attached charts.

1. Rates Are Set Using Net Depreciated Investment

The starting point assumes that a utility has a $500 net investment before the implementation of
a tracker (column 1). The $500 consists of $1,000 of gross plant less $500 of accumulated
depreciation. For purposes of the illustration, we have assumed a 10% depreciation rate and
the utility is allowed to earn a 10% rate of return (ROR) on net investment. This results in a rate
case or baseline revenue requirement of $150.

Next, we show the impact of a tracker that recovers $200 of new capital investment 1 year after
the rate case. When viewed in isolation, a $200 investment would require $40 of additional
revenues (column 2). Thus, the utility would collect $190 ($150 + $40).

However, if the $200 is viewed together with the utility's other investment, we see that the
utility’s total cost would increase to only $180 (column 3). This is because the utility has
experienced one additional year of depreciation on its other investments, and the $200 capital
addition has also been depreciated. Thus, the utility requires only $30 of additional revenue, not
$40 if the new capital investment is viewed in isolation. Ignoring depreciation on the utility’s
other plant and the new capital addition, the utility will over-recover from its customers
(by $10 in the example).

2. Load Growth Offsets New Investment

Starting from Slide 1, we assume that the utility sells 30 MW of power and that to recover the
$150 baseline revenue requirement, it must charge $5 ($150 + 30 MW = $5). We assume the
tracker is set to charge $30, which recognizes depreciation (column 1).

Subsequently, we then assume that the utility's sales grow to 36 MW. The additional sales
generate $30 of additional revenue (column 2). The utility now collects $180 of base revenues
and $36 of tracker revenues for a total of $216. However, the utility’'s costs are still $180
(assuming no additional depreciation). Thus, the utility will over-recover by $36 if load growth is
ignored.



If load growth is recognized, the tracker can be reset to $0 because the base rates (that collect
$180) are sufficient to recover the utility’s total costs (also $180). No over-recovery occurs.
Ignoring load growth will allow the utility to over-recover from its customers (by $36 in

the example).













































